Bid Tabulation Packet for Solicitation 1806-235

Repairing, Milling & Overlay - Ronald Reagan Blvd from SH 195 to IH 35

Bid Designation: Public



Williamson County, Texas

Bid #1806-235 - Repairing, Milling & Overlay - Ronald Reagan Blvd from SH 195 to IH 35

Start Date Jun 19, 2018 11:15:50 AM CDT Awarded Date Not Yet Awarded

1806-23501-01 Total Bid Price						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Austin Materials	First Offer - \$2,187,823.16	1 / each	\$2,187,823.16		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lone Star Paving	First Offer - \$2,378,224.20	1 / each	\$2,378,224.20	Υ	Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code: \$1,307,389.85			
APAC Texas Inc./Wheeler	First Offer - \$2,812,308.28	1 / each	\$2,812,308.28	Υ	Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

1806-23501-02 Please Attach All Documents To This Line									
Supplier	Unit Price	Qty/Unit	Total Price	Docs					
APAC Texas Inc./Wheeler	First Offer -	1 / each		Υ	Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Lone Star Paving	First Offer -	1 / each			Υ				
Product Code: Agency Notes:		Supplier Product Code: \$1,070,834.35 Supplier Notes:							
Austin Materials	First Offer -	1 / each		Υ	Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								

Supplier Totals

f Austin Materials	\$2,187,823.16 (2/2 items	5)
Bid Contact Andrew Warner andrew.warner@austinmaterials.com Ph 512-251-3713 Fax 512-251-3709	Address 9020 N. Capital of Texas Hw Bldg. II- Ste. 250 Austin, TX 78759	у
Agency Notes:	Supplier Notes:	Head Attch:
f Lone Star Paving	\$2,378,224.20 (2/2 items)	
Bid Contact Ben Carroll ben@Ispaving.com Ph 210-557-3676	Address 11675 jollyville rd austin, TX 78759	
Agency Notes:	Supplier Notes: Hea	d Attch:
f APAC Texas Inc./Wheeler	\$2,812,308.28 (2/2 items)	
Bid Contact David reese david.reese@apac.com Ph 512-633-5680	Address 1 Chisholm Trail Round Rock, TX 76513	

Bid Bond (Status: Authorized on Jul 13, 2018)

Agency Notes: Supplier Notes: Head Attch:

Austin Materials

Bid Contact Andrew Warner

andrew.warner@austinmaterials.com Ph 512-251-3713

Fax 512-251-3709

Address 9020 N. Capital of Texas Hwy Bldg. II- Ste. 250 Austin, TX 78759

Item #	Line Item	Notes	Unit Price	Qty/Unit		Attch.	Docs
1806 -23501- 01	Total Bid Price	Supplier Product Code:	First Offer - \$2,187,823.16	1 / each	\$2,187,823.16		Υ
1806 -23501- 02	Please Attach All Documents To This Line	Supplier Product Code:	First Offer -	1 / each		Υ	Υ

Supplier Total \$2,187,823.16

Austin Materials

Item: Please Attach All Documents To This Line

Attachments

Bid Bond- Austin Materials.pdf

Bid Form- Austin Materials.pdf

BID BOND								
KNOW ALL BY THESE PRESENTS, That we,	Austin Materials, LLC							
of 9020	of 9020 N. Capitol of Texas Hwy., Building II Ste. 250, Austin, TX 78759							
(hereinafter called the Principal), as Principal, and	nereinafter called the Principal), as Principal, and Liberty Mutual Insurance Company							
(hereinafter called the Surety), as Surety are held an	nd firmly bound unto							
	Williamson County, TX							
(hereinafter called the Obligee) in the penal sum of								
Five Percent of Amo	ount Bid Dollars (
for the payment of which the Principal and the Su jointly and severally, firmly by these presents.	rety bind themselves, their heirs, executors, administrators, successors and assigns,							
and CSLP	CH, That WHEREAS, the Principal has submitted or is about to submit a proposal							
Ronald Reagan Overlay- SH 195 to IH-35								
	Austin Materials, LLC Witness Przesto Entr							

State of County of	UT Salt Lake	} ss:	
On therein, duly con	July 17, nmissioned and	2018 sworn, personally app	, before me, a Notary Public in and for said County and State, residing eared
			Tina Davis
the corporation of the said instrume	lescribed in and ent in behalf of	the said corporation, a	Insurance Company In and foregoing instrument, and known to me to be the person who executed and he duly acknowledged to me that such corporation executed the same. I and affixed my official seal, the day and year stated in this certificate above.
My Commission	n Expires	11/18/2020	Lindsey Plattner Notary Public

Williamson County, Texas
THIS POWER OF ATTORNEY IS NOT VALID UNLESS IT IS PRINTED ON RED BACKGROUND.

This Power of Attorney limits the acts of those named herein, and they have no authority to bind the Company except in the manner and to the extent herein stated.

Certificate No. 8121397

Liberty Mutual Insurance Company The Ohio Casualty Insurance Company

West American Insurance Company

POWER OF ATTORNEY

KNOWN ALL PERSONS BY THESE	PRESENTS: That The Ohio	Casualty Insurance Comp	oany is a corporation duly	organized under the la	ws of the State of New	Hampshire, that
Liberty Mutual Insurance Company	is a corporation duly organi	zed under the laws of the	State of Massachusetts	, and West American In	surance Company is a	corporation duly
organized under the laws of the Stat	e of Indiana (herein collective	ely called the "Companies"	, pursuant to and by auth	ority herein set forth, do	es hereby name, constitu	ite and appoint,
Lisa Hall: Linda Lee Ninner: T	ina Davis: Lindsey Plattr	er :		대학생 이 환경 학생 이 없는데		

all of the city of Salt Lake City , state of UT each individually if there be more than one named, its true and lawful attorney-in-fact to make, execute, seal, acknowledge and deliver, for and on its behalf as surety and as its act and deed, any and all undertakings, bonds, recognizances and other surety obligations, in pursuance of these presents and shall be as binding upon the Companies as if they have been duly signed by the president and attested by the secretary of the Companies in their own proper persons.

IN WITNESS WHEREOF, this Power of Attorney has been subscribed by an authorized officer or official of the Companies and the corporate seals of the Companies have been affixed thereto this 7th day of June 2018



STATE OF PENNSYLVANIA **COUNTY OF MONTGOMERY**

On this 7th day of June 2018, before me personally appeared David M. Carey, who acknowledged himself to be the Assistant Secretary of Liberty Mutual Insurance Company, The Ohio Casualty Company, and West American Insurance Company, and that he, as such, being authorized so to do, execute the foregoing instrument for the purposes therein contained by signing on behalf of the corporations by himself as a duly authorized officer.

IN WITNESS WHEREOF, I have hereunto subscribed my name and affixed my notarial seal at King of Prussia, Pennsylvania, on the day and year first above written.



COMMONWEALTH OF PENNSYLVANIA

Notarial Seal Teresa Pastella, Notary Public Upper Merion Twp., Montgomery County My Commission Expires March 28, 2021

Member, Pennsylvania Association of Notaries

reresa Pastella, Notary Public

The Ohio Casualty Insurance Company Liberty Mutual Insurance Company

West American Insurance Company

This Power of Attorney is made and executed pursuant to and by authority of the following By-laws and Authorizations of The Ohio Casualty Insurance Company, Liberty Mutual Insurance Company, and West American Insurance Company which resolutions are now in full force and effect reading as follows:

ARTICLE IV - OFFICERS - Section 12. Power of Attorney. Any officer or other official of the Corporation authorized for that purpose in writing by the Chairman or the President, and subject to such limitation as the Chairman or the President may prescribe, shall appoint such attorneys-in-fact, as may be necessary to act in behalf of the Corporation to make, execute, seal, acknowledge and deliver as surety any and all undertakings, bonds, recognizances and other surety obligations. Such attorneys-in-fact, subject to the limitations set forth in their respective powers of attorney, shall have full power to bind the Corporation by their signature and execution of any such instruments and to attach thereto the seal of the Corporation. When so executed, such instruments shall be as binding as if signed by the President and attested to by the Secretary. Any power or authority granted to any representative or attorney-in-fact under the provisions of this article may be revoked at any time by the Board, the Chairman, the President or by the officer or officers granting such power or authority.

ARTICLE XIII - Execution of Contracts - SECTION 5. Surety Bonds and Undertakings, Any officer of the Company authorized for that purpose in writing by the chairman or the president, and subject to such limitations as the chairman or the president may prescribe, shall appoint such attorneys-in-fact, as may be necessary to act in behalf of the Company to make, execute, seal, acknowledge and deliver as surety any and all undertakings, bonds, recognizances and other surety obligations. Such attorneys-in-fact subject to the limitations set forth in their respective powers of attorney, shall have full power to bind the Company by their signature and execution of any such instruments and to attach thereto the seal of the Company. When so executed such instruments shall be as binding as if signed by the president and attested by the secretary.

Certificate of Designation - The President of the Company, acting pursuant to the Bylaws of the Company, authorizes David M. Carey, Assistant Secretary to appoint such attorneys-infact as may be necessary to act on behalf of the Company to make, execute, seal, acknowledge and deliver as surety any and all undertakings, bonds, recognizances and other surety obligations.

Authorization - By unanimous consent of the Company's Board of Directors, the Company consents that facsimile or mechanically reproduced signature of any assistant secretary of the Company, wherever appearing upon a certified copy of any power of attorney issued by the Company in connection with surety bonds, shall be valid and binding upon the Company with the same force and effect as though manually affixed.

I, Renee C. Llewellyn, the undersigned, Assistant Secretary, The Ohlo Casualty Insurance Company, Liberty Mutual Insurance Company, and West American Insurance Company do hereby certify that the original power of attorney of which the foregoing is a full, true and correct copy of the Power of Attorney executed by said Companies, is in full force and effect and has not been revoked.

IN TESTIMONY WHEREOF, I have hereunto set my hand and affixed the seals of said Companies this 17TH day of

Renee C. Llewellyn, Assistant Secretary





1-610-832-8240 between 9:00 am and 4:30 pm EST on any business day.

confirm the validity of this Power of Attorney

			Bid Form Ronald Reagan Blvd• from SH 195 to IH 3	5 (Phase 1) William	son County				
PHASE	ITEM	NO	DESCRIPTION	T UNITS T	QTY	L	nit Price	г	Total Price
PHASE 1	160	6003	FURNISHING AND PLACING TOPSOIL (4")	SY	26,607	\$	4,35	\$	115,740.45
PHASE 1	164	6033	DRILL SEEDING (PERM) (RURAL) (SANDY)	SY	26,607	\$	0.13	\$	3,458.91
PHASE 1	166	6001	FERTILIZER	AC	6	\$	188.10	\$	1,128.60
PHASE 1	168	6001	VEGETATIVE WATERING	MG	1,254	\$	10.00	\$	12,540.00
PHASE 1	316	6175	AGGR (TY-B GR-4 SAC-B)	CY	640	\$	71.75	\$	45,920.00
PHASE 1	316	6466	ASPH (CHFRS-2P OR CRS-2P)	GAL	25,726	\$	2.90	\$	74,605.40
PHASE 1	341	6008	D - GR HMA TY - B PG64 - 22	TON	2,017	\$	61.00	\$	123,037.00
PHASE 1	. 341	6043	D - GR HMA TY - D PG70 - 22	TON	8,086	\$	72.50	\$	586,235.00
PHASE 1	341	6062	D-GR HMA TY-D PG64-22(LEVEL-UP)	TON	1,009	\$	74.00	\$	74,666.00
PHASE 1	354	6021	PLANE ASPH CONG PAV (O" TO 2")	SY	13,001	\$	2,42	\$	31,462.42
PHASE 1	354	6082	PLANE ASPH CONG PAV (10")	SY	3,668	\$	9.36	\$	34,332.48
PHASE 1	500	6001	MOBILIZATION	LS	1	\$	39,000.00	\$	39,000.00
PHASE 1	502	6001	BARRICADES, SIGNS AND TRAFFIC HANDLING	МО	2	\$	7,400.00	\$	14,800.00
PHASE 1	662	6109	WK ZN PAV MRK SHT TERM (TAB) TY W	EA	75	\$	1.00	\$	75.00
PHASE 1	662	6111	WK ZN PAV MRK SHT TERM (TAB) TY Y-2	EA	1,505	\$	1.00	\$	1,505.00
PHASE 1	666	6035	REFL PAV MRK TY I (W) 8" (SLD) (090MIL)	LF	746	\$	0.60	\$	447.60
PHASE 1	666	6047	REFL PAV MRK TY I (W) 24" (SLD) (090MIL)	LF	35	\$	12.50	\$	437.50
PHASE 1	666	6053	REFL PAV MRK TY I (W) (ARROW) (090MIL)	EA	2	\$	255.00	\$	510.00
PHASE 1	666	6077	REFL PAV MRK TY I (W) (WORD) (090MIL)	EA	2	\$	260.00	\$	520.00
PHASE 1	666	6146	REFL PAV MRK TY I (Y) 24" (SLD) (090MIL)	LF	-	\$	-	\$	
PHASE 1	666	6167	REFL PAV MRK TY (W)4"(BRK)	LF	-	\$	-	\$	-
PHASE 1	666	6170	REFL PAV MRK TY (W)4" (SLD)	LF	29,860	\$	0.12	\$	3,583.20
PHASE 1	666	6178	REFL PAV MRK TY (W)8" (SLD)	LF	746	\$	0.33	\$	246.18
PHASE 1	666	6182	REFL PAV MRK TY (W) 24" (SLD)	LF	35	\$	3.35	\$	117.25
PHASE 1	666	6184	REFL PAV MRK TY (W)(ARROW)	EA	2	\$	85.00	\$	170.00
PHASE 1	666	6192	REFL PAV MRK TY (W)(WORD)	EA	2	\$	95.00	\$	190.00
PHASE 1	666	6207	REFL PAV MRK TY I (Y) 4" (SLD)	LF	30,090	\$	0.12	\$	3,610.80
PHASE 1	666	6214	REFL PAV MRK TY II (Y) 24" (SLD)	LF	*	\$	-	\$	
PHASE 1	666	6299	RE PM W / RET REQ TY I (W) 4" (BRK) (090MIL)	LF		\$	-	\$	-
PHASE 1	666	6302	RE PM W / RET REQ TY I (W) 4" (SLD) (090MIL)	LF	29,860	\$	0.26	\$	7,763.60
PHASE 1	666	6314	RE PM W / RET REQ TY I (Y) 4" (SLD) (090MIL)	LF	30,090	\$	0.26	\$	7,823.40
PHASE 1	672	6007	REFL PAV MRKR TY 1-C	EA	38	\$	5.85	\$	222.30
PHASE 1	672	6009	REFL PAV MRKR TY II-A-A	EA	376	\$	4.00	\$	1,504.00
					Т	OTAI	-	\$	1,185,652.09

			Bid Form Ronald Reagan Blvd - from SH 195 to IH 3	5 (Phase 2) Willia	mson Count	y			
PHASE	ITEM	NO	DESCRIPTION	UNITS	QTY	Τυ	Init Price	T 7	Total Price
PHASE 2	160	6003	FURNISHING AND PLACING TOPSOIL (4")	SY	26134	\$	4.35	\$	113,682.
PHASE 2	164	6033	DRILL SEEDING (PERM) (RURAL) (SANDY)	SY	26134	\$	0.13	\$	3,397.
PHASE 2	166	6001	FERTILIZER	AC	6	\$	188.10	\$	1,128.
PHASE 2	168	6001	VEGETATIVE WATERING	MG	1232	1\$	10.00	\$	12,320.
PHASE 2	316	6175	AGGR (TY-B GR-4 SAC-B)	CY	724	\$	71.75	\$	51,947.
PHASE 2	316	6466	ASPH (CHFRS-2P OR CRS-2P)	GAL	29114	\$	2.90	\$	84,430.
PHASE 2	341	6008	D - GR HMA TY - B PG64 - 22	TON	0	1\$	61.00	\$	01,1501
PHASE 2	341	6043	D - GR HMA TY - D PG70 - 22	TON	9150	\$	72.50	\$	663,375.
PHASE 2	354	6021	PLANE ASPH CONC PAV (O" TO 2")	SY	4100	\$	2.42	\$	9,922.0
PHASE 2	354	6082	PLANE ASPH CONG PAV (10")	SY	0	\$		\$	- ,
PHASE 2	500	6001	MOBILIZATION	LS	1	\$	10,000.00	\$	10,000.
PHASE 2	502	6001	BARRICADES, SIGNS AND TRAFFIC HANDLING	МО	2	\$	7,400.00	\$	14,800.
PHASE 2	662	6109	WK ZN PAV MRK SHT TERM (TAB) TY W	EA	144	\$	1.00	\$	144.
PHASE2	662	6111	WK ZN PAV MRK SHT TERM (TAB) TY Y-2	EA	1609	\$	1.00	\$	1,609.
PHASE2	666	6035	REFL PAV MRK TY I (W) 8" (SLD) (090MIL)	LF	1440	\$	0.60	\$	864.
PHASE 2	666	6047	REFL PAV MRK TY I (W) 24" (SLD) (090MIL)	LF	56	\$	12.50	\$	700.
PHASE 2	666	6053	REFL PAV MRK TY I (W) (ARROW) (090MIL)	EA	4	\$	255.00	\$	1,020.
PHASE 2	666	6077	REFL PAV MRK TY I (W) (WORD) (090MIL)	EA	4	\$	260.00	\$	1,040.
PHASE 2	666	6146	REFL PAV MRK TY I (Y) 24" (SLD) (090MIL)	LF	1015	\$	3.00	\$	3,045.
PHASE 2	666	6167	REFL PAV MRK TY (W)4"(BRK)	LF	1110	\$	0.10	\$	111.
PHASE 2	666	6170	REFL PAV MRK TY (W)4"(SLD)	LF	29150	\$	0.12	\$	3,498.
PHASE 2	666	6178	REFL PAV MRK TY (W) 8" (SLD)	LF	1440	\$	0.33	\$	475.
PHASE 2	666	6182	REFL PAV MRK TY (W) 24" (SLD)	LF	56	\$	3.35	\$	187.
PHASE 2	666	6184	REFL PAV MRK TY (W)(ARROW)	EA	4	\$	85.00	\$	340.
PHASE 2	666	6192	REFL PAV MRK TY (W)(WORD)	EA	4	\$	95.00	\$	380.
PHASE 2	666	6207	REFL PAV MRK TY (Y)4" (SLD)	LF	32180	\$	0.12	\$	3,861.
PHASE 2	666	6214	REFL PAV MRK TY (Y) 24" (SLD)	LF	1015	\$	0.75	\$	761.
PHASE 2	666	6299	RE PM W / RET REQ TY I (W) 4" (BRK) (090MIL)	LF	1110	\$	0.20	\$	222.
PHASE 2	666	6302	RE PM W / RET REQ TY I (W) 4" (SLD) (090MIL)	LF	29150	\$	0.26	\$	7,579.
PHASE 2	666	6314	RE PM W / RET REQ TY I (Y) 4" (SLD) (090MIL)	LF	32180	\$	0.26	\$	8,366.
PHASE 2	672	6007	REFL PAV MRKR TY I-C	EA	86	\$	5.85	\$	503.
PHASE 2	672	6009	REFL PAV MRKR TY II-A-A	EA	615	\$	4.00	\$	2,460.
	1						OTAL	\$	1,002,171.

Phase 1 & 2 Total

\$ 2,187,823.16

Supplier: Austin Materials

BID AFFIDAVIT

This form must be completed, signed, notarized and returned with Bid package

The undersigned attests that the company named below, under the provisions of Subtitle F, Title 10, Texas Government Code Chapter 2270:

- 1. Does not boycott Israel currently; and
- 2. Will not boycott Israel during the term of the contract.

Pursuant to Section 2270.001, Texas Government Code:

- "Boycott Israel" means refusing to deal with, terminating business activities with, or otherwise taking any action that is intended to penalize, inflict economic harm on, or limit commercial relations specifically with Israel, or with a person or entity doing business in Israel or in an Israeli-controlled territory, but does not include an action made for ordinary business purposes; and
- "Company" means a for-profit sole proprietorship, organization, association, corporation, partnership, joint venture, limited partnership, or any limited liability company, including a wholly owned subsidiary, majority-owned subsidiary, parent company or affiliate of those entities or business associations that exist to make a profit.

The undersigned certifies that the IFB and the Bidder's Bid have been carefully reviewed and are submitted as correct and final. Bidder further certifies and agrees to furnish any and/or all goods and/or services upon which prices are extended at the price Bid, and upon the conditions contained in the IFB.

I hereby certify that the foregoing Bid has not been prepared in collusion with any other Bidder or other person or persons engaged in the same line of business prior to the official opening of this Bid. Further, I certify that the Bidder is not now, nor has been for the past six (6) months, directly or indirectly concerned in any pool or agreement or combination, to control the price of services/commodities Bid on, or to influence any person or persons to submit a Bid or not to submit a Bid thereon."

Name of Bidder:	Austin Materials LLC
Address of Bidder:	9020 N. Capital of Texas Hwy Bldg II, Ste 250
	Austin, TX 78759
Email:	amw7799
Telephone:	512-251-3713
Printed Name of Person Submitting	Andrew Warner
Affidavit:	
Signature of Person Submitting	
Affidavit:	

Cooperative Purchasing Program

Check one of the following options below. A non-affirmative Bid will in no way have a negative impact on the County's evaluation of the Bid.

Contract.
I will offer the quoted prices to all authorized entities during the term of the County's

✓ 1,

I will not offer the quoted prices to all authorized entities.

If no box is checked, the Bidder agrees to make best efforts in good faith to offer the quoted prices to all authorized entities.

BEFORE ME, the undersigned authority, a Notary Public, personally appeared (*Name of Signer*), who after being by me duly sworn, did depose and say: "I, , (*Name of Signer*) am a duly authorized officer of/agent for (*Name of Bidder*) and have been duly authorized to execute the foregoing on behalf of the said (*Name of Bidder*).

SUBSCRIBED AND SWORN to before me by the above-named on this the day of , 20.

Notary Public in and for

The State of

The County of

SIGNATURE AND NOTARY NOT REQUIRED IF COMPLETING IN BIDSYNC ELECTRONICALLY.

Supplier: Austin Materials

CONFLICT OF INTEREST QUESTIONNAIRE Form For vendor or other person doing business with local governmental entity CIQ This questionnaire is being filed in accordance with chapter 176 of the Local OFFICE USE ONLY Government Code by a person doing business with the governmental entity. Date Received By law this questionnaire must be filed with the records administrator of the local government not later than the 7th business day after the date the person becomes aware of facts that require the statement to be filed. See Section 176.006, Local Government Code. A person commits an offense if the person violates Section 176.006, Local Government Code. An offense under this section is a Class C misdemeanor. Name of person doing business with local governmental entity. **Not Applicable** 2 Check this box if you are filing an update to a previously filed questionnaire. (The law requires that you file an updated completed questionnaire with the appropriate filing authority not later than September 1 of the year for which an activity described in Section 176.006(a), Local Government Code, is pending and not later than the 7th business day after the date the originally filed questionnaire becomes incomplete or inaccurate.) 3 Describe each affiliation or business relationship with an employee or contractor of the local governmental entity who makes recommendations to a local government officer of the local governmental entity with respect to expenditure of money. Not Applicable 4 Describe each affiliation or business relationship with a person who is a local government officer and who appoints or employs a local government officer of the local governmental entity that is the subject of this questionnaire. **Not Applicable**

CONFLICT OF INTEREST QUESTIONNAIRE

For vendor or other person doing business with local governmental entity

Form CIQ Page 2

5	Name of local government officer with whom filer has affiliation or business relationship. (Complete this section only if the answer to A, B, or C is YES.)							
	This section, item 5 including subparts A, B, C & D, must be completed for each officer with whom the filer has affiliation or other relationship. Attach additional pages to this Form CIQ as necessary.							
	A. Is the local government officer named in this section receiving or likely to receive taxable inco the filer of the questionnaire?							
	☐ Yes ☑ No							
	B. Is the filer of the questionnaire receiving or likely to receive taxable income from or at the direction of the local government officer named in this section AND the taxable income is not from the local governmental entity?							
	☐ Yes ✓ No	☐ Yes 🗹 No						
	C. Is the filer of this questionnaire affiliated with a corporation or other business entity that the loca government officer serves as an officer or director, or holds an ownership of 10 percent or more							
☐ Yes ☑ No								
	D. Describe each affiliation or business relationship. 6. Describe any other affiliation or business relationship that might cause conflict of interest: Not Applicable							
7								
	Net Applicable	C 20 40						
	Not Applicable	6-20-18						
	Signature of person doing business with the governmental entity	Date						
	Signature not required if completing in BIDSYNC ele	ctronically.						

Supplier: Austin Materials

Bidder References

List the last (3) companies or governmental agencies, where the same or similar goods and/or services as contained in this IFB package, were recently provided by Bidder.

Reference 1

Client Name: Location:

Williamson County Chandler Road

Contact Name: Title:

George Mayfield Supervisor Inspector

Phone: E-mail

512-943-3330 gmayfield@wilco.org

Contract Date To: Contract Date From: Contract Value: \$

07-01-2015 Active 2,553,555.24

Scope of Work:

Rehab of Chandler Rd consists of Level-up, Full Depth Repair, Milling, Sealing, Overlaying, &

Re-striping.

Reference 2

Client Name: Location:

TxDOT US 183 NH 2014 (888) 0151-05-108

Contact Name: Title:

Michael McKissick Area Engineer

Phone: E-mail

512-997-2200

Contract Date To: Contract Date From: Contract Value: \$

1,517,070.86

Scope of Work:

Full Depth Repair, Milling, Sealing, Overlaying, & Re-striping.

Reference 3

Client Name: Location:

CTRMA US 183A Frontage Road

Contact Name: Title:

Ginny Burcham Constructon & Maintenance Manager

Phone: E-mail

512-996-9778

Contract Date To: Contract Date From: Contract Value: \$

6-16-2014 2-28-15 3,621,875.10

Scope of Work:

Full Depth Repair, Milling, Sealing, Overlaying, & Re-striping.

Lone Star Paving

Bid Contact Ben Carroll ben@Ispaving.com Ph 210-557-3676

Address 11675 jollyville rd austin, TX 78759

Supplier Total \$2,378,224.20

Item #	Line Item	Notes		Unit Price	Qty/Unit		Attch.	Docs
1806 -23501- 01	Total Bid Price	Supplier Product Code: \$1,307,389.85	First Offer -	\$2,378,224.20	1 / each	\$2,378,224.20	Υ	Υ
1806 -23501· 02	Please Attach All Documents To This Line	Supplier Product Code: \$1,070,834.35		First Offer -	1 / each			Y

Lone Star Paving

Item: Total Bid Price

Attachments

Bid Form · Ronald Reagan Overlay Lone Star Paving.pdf

Form 1295 Lone Star Paving.pdf

Bid Bond Williamson County Ronald Reagan Blvd Improvements Lone Star Paving.pdf

			Bid Form				
			Ronald Reagan Blvd - from SH 195 to Williamson County	IH 35 (Ph	ase 1)		
PHASE	ITEM	NO	DESCRIPTION	UNITS	QTY	Unit Price	Total Price
PHASE 1	160	6003	FURNISHING AND PLACING TOPSOIL (4")	SY	26607	\$2.00	\$53,214.00
PHASE 1	164	6033	DRILL SEEDING (PERM) (RURAL) (SANDY)	SY	26607	\$0.15	\$3,991.05
PHASE 1	166	6001	FERTILIZER	AC	6	\$175.00	\$1,050.00
PHASE 1	168	6001	VEGETATIVE WATERING	MG	1254	\$25.00	\$31,350.00
PHASE 1	316	6175	AGGR (TY-B GR-4 SAC-B)	CY	640	\$65.00	\$41,600.00
PHASE 1	316	6466	ASPH (CHFRS-2P OR CRS-2P)	GAL	25726	\$3.00	\$77,178.00
PHASE 1	341	6008	D - GR HMA TY - B PG64 - 22	TON	2017	\$95.00	\$191,615.00
PHASE 1	341	6043	D - GR HMA TY - D PG70 - 22	TON	8086	\$80.00	\$646,800.00
PHASE 1	341	6062	D-GR HMA TY-D PG64-22(LEVEL-UP)	TON	1009	\$100.00	\$100,900.00
PHASE 1	354	6021	PLANE ASPH CONC PAV (0" TO 2")	SY	13001	\$2.00	\$26,002.00
PHASE 1	354	6082	PLANE ASPH CONC PAV (10")	SY	3668	\$10.00	\$36,680.00
PHASE 1	500	6001	MOBILIZATION	LS	1	\$65,000.00	\$65,000.00
PHASE 1	502	6001	BARRICADES, SIGNS AND TRAFFIC HANDLING	MO	2	\$1,500.00	\$3,000.00
PHASE 1	662	6109	WK ZN PAV MRK SHT TERM (TAB) TY W	EA	75	\$0.75	\$56.25
PHASE 1	662	6111	WK ZN PAV MRK SHT TERM (TAB) TY Y - 2	EA	1505	\$0.75	\$1,128.75
PHASE 1	666	6035	REFL PAV MRK TY I (W) 8" (SLD) (090MIL)	LF	746	\$0.60	\$447.60
PHASE 1	666	6047	REFL PAV MRK TY I (W) 24" (SLD) (090MIL)	LF	35	\$4.50	\$157.50
PHASE 1	666	6053	REFL PAV MRK TY I (W) (ARROW) (090MIL)	EA	2	\$130.00	\$260.00
PHASE 1	666	6077	REFL PAV MRK TY I (W) (WORD) (090MIL)	EA	2	\$175.00	\$350.00
PHASE 1	666	6146	REFL PAV MRK TY I (Y) 24" (SLD) (090MIL)	LF	0	\$4.50	\$0.00
PHASE 1	666	6167	REFL PAV MRK TY II (W) 4" (BRK)	LF	0	\$0.10	\$0.00
PHASE 1	666	6170	REFL PAV MRK TY II (W) 4" (SLD)	LF	29860	\$0.10	\$2,986.00
PHASE 1	666	6178	REFL PAV MRK TY II (W) 8" (SLD)	LF	746	\$0.20	\$149.20
PHASE 1	666	6182	REFL PAV MRK TY II (W) 24" (SLD)	LF	35	\$2.50	\$87.50
PHASE 1	666	6184	REFL PAV MRK TY II (W) (ARROW)	EA	2	\$100.00	\$200.00
PHASE 1	666	6192	REFL PAV MRK TY II (W) (WORD)	EA	2	\$125.00	\$250.00
PHASE 1	666	6207	REFL PAV MRK TY II (Y) 4" (SLD)	LF	30090	\$0.10	\$3,009.00
PHASE 1	666	6214	REFL PAV MRK TY II (Y) 24" (SLD)	LF	0	\$4.50	\$0.00
PHASE 1	666	6299	RE PM W / RET REQ TY I (W) 4" (BRK) (090MIL)	LF	0	\$0.30	\$0.00
PHASE 1	666	6302	RE PM W / RET REQ TY I (W) 4" (SLD) (090MIL)	LF	29860	\$0.30	\$8,958.00
PHASE 1	666	6314	RE PM W / RET REQ TY I (Y) 4" (SLD) (090MIL)	LF	30090	\$0.30	\$9,027.00
PHASE 1	672	6007	REFL PAV MRKR TY I-C	EA	38	\$4.50	\$171.00
PHASE 1	672	6009	REFL PAV MRKR TY II-A-A	EA	376	\$4.50	\$1,692.00
					TOTAL	-	\$1,307,389.85

PHASE 2 11 PHASE 2 11 PHASE 2 11 PHASE 2 11 PHASE 2 13 PHASE 2 33	160 164 166 168 316 316 341 341 354	NO 6003 6033 6001 6001 6175 6466 6008	Williamson County DESCRIPTION FURNISHING AND PLACING TOPSOIL (4") DRILL SEEDING (PERM) (RURAL) (SANDY) FERTILIZER VEGETATIVE WATERING AGGR (TY-B GR-4 SAC-B)	UNITS SY SY AC MG	QTY 26134 26134	Unit Price \$2.00	Total Price \$52,268.00
PHASE 2 11 PHASE 2 11 PHASE 2 12 PHASE 2 13 PHASE 2 15 PHASE 2 15 PHASE 2 15 PHASE 2 16 PHASE 2 16 PHASE 2 16 PHASE 2 16	164 166 168 316 316 341 341	6033 6001 6001 6175 6466	DRILL SEEDING (PERM) (RURAL) (SANDY) FERTILIZER VEGETATIVE WATERING	SY	26134	 	\$52,268.00
PHASE 2 11 PHASE 2 12 PHASE 2 13 PHASE 2 15 PHASE 2 15 PHASE 2 15 PHASE 2 16 PHASE 2 16 PHASE 2 16 PHASE 2 16	166 168 316 316 341 341	6001 6001 6175 6466	FERTILIZER VEGETATIVE WATERING	AC		CO 45	
PHASE 2 11 PHASE 2 33 PHASE 2 55 PHASE 2 56 PHASE 2 66 PHASE 2 66 PHASE 2 66	168 316 316 341 341	6001 6175 6466	VEGETATIVE WATERING			\$0.15	\$3,920.10
PHASE 2 3 PHASE 2 5 PHASE 2 5 PHASE 2 6 PHASE 2 6 PHASE 2 6 PHASE 2 6	316 316 341 341	6175 6466		MG	6	\$175.00	\$1,050.00
PHASE 2 3 PHASE 2 3 PHASE 2 3 PHASE 2 3 PHASE 2 5 PHASE 2 5 PHASE 2 6 PHASE 2 6 PHASE 2 6 PHASE 2 6	316 341 341	6466	AGGR (TY-B GR-4 SAC-B)	1	1232	\$25.00	\$30,850.00
PHASE 2 3 PHASE 2 3 PHASE 2 3 PHASE 2 5 PHASE 2 5 PHASE 2 6 PHASE 2 6 PHASE 2 6	341 341			CY	724	\$65.00	\$47,060.00
PHASE 2 3 PHASE 2 3 PHASE 2 5 PHASE 2 5 PHASE 2 6 PHASE 2 6 PHASE 2 6	341	6008	ASPH (CHFRS-2P OR CRS-2P)	GAL	29114	\$3.00	\$87,342.00
PHASE 2 3 PHASE 2 5 PHASE 2 5 PHASE 2 6 PHASE 2 6 PHASE 2 6			D - GR HMA TY - B PG64 - 22	TON	0	\$95.00	\$0.00
PHASE 2 5 PHASE 2 5 PHASE 2 6 PHASE 2 6 PHASE 2 6	254	6043	D - GR HMA TY - D PG70 - 22	TON	9150	\$80.00	\$732,000.00
PHASE 2 E PHASE 2 E PHASE 2 E PHASE 2 E	354	6021	PLANE ASPH CONC PAV (0" TO 2")	SY	4100	\$2.00	\$8,200.00
PHASE 2 6 PHASE 2 6 PHASE 2 6	354	6082	PLANE ASPH CONC PAV (10")	SY	0	\$10.00	\$0.00
PHASE 2 6	500	6001	MOBILIZATION	LS	1	\$65,000.00	\$65,000.00
PHASE 2	502	6001	BARRICADES, SIGNS AND TRAFFIC HANDLING	МО	2	\$1,500.00	\$3,000.00
	662	6109	WK ZN PAV MRK SHT TERM (TAB) TY W	EA	144	\$0.75	\$108.00
PHASE 2	662	6111	WK ZN PAV MRK SHT TERM (TAB) TY Y - 2	EA	1609	\$0.75	\$1,206.75
1	666	6035	REFL PAV MRK TY I (W) 8" (SLD) (090MIL)	LF	1440	\$0.60	\$864.00
PHASE 2	666	6047	REFL PAV MRK TY I (W) 24" (SLD) (090MIL)	LF	56	\$4.50	\$252.00
PHASE 2	666	6053	REFL PAV MRK TY I (W) (ARROW) (090MIL)	EA	4	\$125.00	\$500.00
PHASE 2	666	6077	REFL PAV MRK TY I (W) (WORD) (090MIL)	EA	4	\$175.00	\$700.00
PHASE 2	666	6146	REFL PAV MRK TY I (Y) 24" (SLD) (090MIL)	LF	1015	\$4.50	\$4,567.50
PHASE 2	666	6167	REFL PAV MRK TY II (W) 4" (BRK)	LF	1110	\$0.10	\$111.00
PHASE 2	666	6170	REFL PAV MRK TY II (W) 4" (SLD)	LF	29150	\$0.10	\$2,915.00
PHASE 2	666	6178	REFL PAV MRK TY II (W) 8" (SLD)	LF	1440	\$0.20	\$288.00
PHASE 2	666	6182	REFL PAV MRK TY II (W) 24" (SLD)	LF	56	\$2.50	\$140.00
PHASE 2	666	6184	REFL PAV MRK TY II (W) (ARROW)	EA	4	\$100.00	\$400.00
PHASE 2	666	6192	REFL PAV MRK TY II (W) (WORD)	EA	4	\$125.00	\$500.00
PHASE 2	666	6207	REFL PAV MRK TY II (Y) 4" (SLD)	LF	32180	\$0.10	\$3,218.00
PHASE 2	666	6214	REFL PAV MRK TY II (Y) 24" (SLD)	LF	1015	\$2.50	\$2,537.50
PHASE 2	666	6299	RE PM W / RET REQ TY I (W) 4" (BRK) (090MIL)	LF	1110	\$0.30	\$333.00
PHASE 2	666	6302	RE PM W / RET REQ TY I (W) 4" (SLD) (090MIL)	LF	29150	\$0.30	\$8,745.00
PHASE 2	666	6314	RE PM W / RET REQ TY I (Y) 4" (SLD) (090MIL)	LF	32180	\$0.30	\$9,654.00
PHASE 2	672	6007	REFL PAV MRKR TY I-C	EA	86	\$4.50	\$387.00
PHASE 2		6009	REFL PAV MRKR TY II-A-A	EA	615		

CERTIFICATE OF INTERESTED PARTIES

FORM 1295

1 of 2

OFFICE USE ONLY Complete Nos. 1 - 4 and 6 if there are interested parties. Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties. **CERTIFICATION OF FILING** 1 Name of business entity filing form, and the city, state and country of the business entity's place Certificate Number: of business. 2018-380106 Asphalt Inc., LLC dba Lone Star Paving Company Austin, TX United States Date Filed: Name of governmental entity or state agency that is a party to the contract for which the form is 07/16/2018 being filed. Williamson County Date Acknowledged:

Provide the identification number used by the governmental entity or state agency to track or identify the contract, and provide a description of the services, goods, or other property to be provided under the contract.

1806-235

Ronald Reagan Overlay SH 195 to IH 35

4		Nature o	of interest
Name of Interested Party	City, State, Country (place of business)		pplicable)
		Controlling	Intermediary
Ramming, John	Austin, TX United States	X	
Naivar, Joe	Georgetown, TX United States	x	
Knox, Allen	Austin, TX United States	Х	
Morisey, Greg	Austin, TX United States	х	
Condon, Josh	Austin, TX United States	Х	
Carroll, Brian	Temple, TX United States		X .
Carroll, Ben	San Antonio, TX United States	х	
Playfair, Thomas	New Braunfels, TX United States	Х	
Ohlendorf, Ryan	Buda, TX United States	х	
Lundquist, Dean	Leander, TX United States	х	
Spinn, Steve	Austin, TX United States	×	
Cabaza, Aaron	Austin, TX United States	Х	
Wheeler, John	Austin, TX United States	Х	[
Nolan Wheeler Heritage Trust	Austin, TX United States	Х	
Patrick Wheeler Heritage Trust	Austin, TX United States	Х	
Kaitlin Wheeler Heritage Trust	Austin, TX United States	x	
Asphalt Inc Employee Investments	Austin, TX United States	Х	
Preferred Materials., Inc	Round Rock , TX United States	Х	
		·	

Forms provided by Texas Ethics Commission

www.ethics.state.tx.us

Version V1.0.6711

CERTIFICATE OF INTERESTED PARTIES	`
CERTIFICATE OF INTERESTED PARTIES	FORM 1295
	2 of 2
Complete Nos. 1 - 4 and 6 if there are interested parties, Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.	OFFICE USE ONLY CERTIFICATION OF FILING
Name of business entity filing form, and the city, state and country of the of business. Asphalt Inc., LLC dba Lone Star Paving Company	c business entity's place Certificate Number: 2018-380106
Austin, TX United States	Date Filed:
Name of governmental entity or state agency that is a party to the contrabeing filed.	ct for which the form is 07/16/2018
Williamson County	Date Acknowledged:
3 Provide the identification number used by the governmental entity or stal description of the services, goods, or other property to be provided under	te agency to track or identify the contract, and provide a r the contract.
1806-235 Ronald Reagan Overlay SH 195 to IH 35	•
4	Nature of interest
Name of Interested Party City, St	rate, Country (place of business) (check applicable) Controlling Intermediary
	Controlling Intermediary
<u> </u>	
Check only if there is NO Interested Party.	
UNSWORN DECLARATION	1 12
My name is bear bundquist	, and my date of birth is
My name is Dean Lundquist My address is 3113 Wedgescale Pass L (street)	(city) (state) (zip code) (country)
I declare under penalty of perjury that the foregoing is true and correct. Executed in	Texas, on the 16th day of July 2018
<u></u>	(month) (year)
Signature	e of authorized agent of contracting business entity (Declarant)

Forms provided by Texas Ethics Commission

www.ethics.state.tx.us

Version V1.0.6711

p. 24

Williamson County, Texas

BID BOND (Percentage)

	Bond No. N/A
KNOW ALL PERSONS BY THESE PRESENTS, That woof 11675 Jollyville Rd, #150 Austin TX 78759	Asphalt Inc, LLC dba Lone Star Paving Company
	hereinafter referred to as the Principal, and
Continental Casualty Company	
CNA Plaza, 333 S Wabash, Chicago IL 60685	10 year 10 yea
as Surety, are held and firmly bound unto Williamson C	ounty
of 901 S Austin Ave., Georgetown TX 78626	
	, hereinafter referred to as the Obligee, in the amount of
five percent of greatest amount bid	
successors and assigns, jointly and severally, firmly by t	ment of which we bind ourselves, our legal representatives, hese presents.
WHEREAS, Principal has submitted or is about to subm Ronald Reagan Blvd Improvements from SH 195 to IH	it a proposal to Obligee on a contract for 35 (Jarrell City Limits)
specified, enter into the contract in writing and give su contract documents with surety acceptable to Oblige	
0101125, 02,122 1112 5,1125 1110 445	
	Principal
	Asphalt Inc, LLC dba Lone Star Paving Company
	BY: Monas Jone
	Surety
	Continental Casualty Company
	BY: Jennifer W Zachry , Attorney-in-Fact

To TIL

25

Know All Men By These Presents, That Continental Casualty Company, an Illinois insurance company, National Fire Insurance Company of Hartford, an Illinois insurance company, and American Casualty Company of Reading, Pennsylvania, a Pennsylvania insurance company (herein called "the CNA Companies"), are duly organized and existing insurance companies having their principal offices in the City of Chicago, and State of Illinois, and that they do by virtue of the signatures and seals herein affixed hereby make, constitute and appoint

Jennifer W Zachry, Sammy K Paddy, Individually

of Austin, TX, their true and lawful Attorney(s)-in-Fact with full power and authority hereby conferred to sign, seal and execute for and on their behalf bonds, undertakings and other obligatory instruments of similar nature

- In Unlimited Amounts -

and to bind them thereby as fully and to the same extent as if such instruments were signed by a duly authorized officer of their insurance companies and all the acts of said Attorney, pursuant to the authority hereby given is hereby ratified and confirmed.

This Power of Attorney is made and executed pursuant to and by authority of the By-Law and Resolutions, printed on the reverse hereof, duly adopted, as indicated, by the Boards of Directors of the insurance companies.

In Witness Whereof, the CNA Companies have caused these presents to be signed by their Vice President and their corporate seals to be hereto affixed on this 31st day of May, 2018.



Williamson County, Texas





Continental Casualty Company National Fire Insurance Company of Hartford American Casualty Company of Reading, Pennsylvania

Paul T. Bruflat Vice President

State of South Dakota, County of Minnehaha, ss:

On this 31st day of May, 2018, before me personally came Paul T. Bruflat to me known, who, being by me duly sworn, did depose and say: that he resides in the City of Sioux Falls, State of South Dakota; that he is a Vice President of Continental Casualty Company, an Illinois insurance company, National Fire Insurance Company of Hartford, an Illinois insurance company, and American Casualty Company of Reading, Pennsylvania, a Pennsylvania insurance company described in and which executed the above instrument; that he knows the seals of said insurance companies; that the seals affixed to the said instrument are such corporate seals; that they were so affixed pursuant to authority given by the Boards of Directors of said insurance companies and that he signed his name thereto pursuant to like authority, and acknowledges same to be the act and deed of said insurance companies.



My Commission Expires June 23, 2021

Notary Public J. Mohr

CERTIFICATE

I, D. Johnson, Assistant Secretary of Continental Casualty Company, an Illinois insurance company, National Fire Insurance Company of Hartford, an Illinois insurance company, and American Casualty Company of Reading, Pennsylvania, a Pennsylvania insurance company do hereby certify that the Power of Attorney herein above set forth is still in force, and further certify that the By-Law and Resolution of the Board of Directors of the insurance companies printed on the reverse hereof is still in force. In testimony whereof I have hereunto subscribed my name and affixed the seal of the said insurance companies this day of







Continental Casualty Company National Fire Insurance Company of Hartford American Casualty Company of Reading, Pennsylvania

D. Johnson Assistant Secretary

Form F6853-4/2012

Figure: 28 TAC §1.601(a)(3)

1 IMPORTANT NOTICE

To obtain information or make a complaint:

- 2 You may contact Continental Casualty Company, National Fire Insurance Company, American Casualty Company or Continental Insurance Company at 312-822-5000.
- 3 You may call Continental Casualty Company, National Fire Insurance Company, American Casualty Company or Continental Insurance Company's toll-free telephone number for information or to make a complaint at:

1-877-672-6115

4 You may also write to Continental Casualty Company, National Fire Insurance Company, American Casualty Company or Continental Insurance Company at:

CNA Surety 333 South Wabash Chicago, IL 60604

5 You may contact the Texas Department of Insurance to obtain information on companies, coverages, rights or complaints at:

1-800-252-3439

6 You may write the Texas Department of Insurance:

P.O. Box 149104 Austin, TX 78714-9104 Fax: (512) 475-1771

Web: http://www.tdi.state.tx.us

E-Mail: ConsumerProtection@tdi.state.tx.us

7 PREMIUM OR CLAIM DISPUTES:

Should you have a dispute concerning your premium or about a claim you should contact Continental Casualty Company, National Fire Insurance Company, American Casualty Company or Continental Insurance Company first. If the dispute is not resolved, you may contact the Texas Department of Insurance.

8 ATTACH THIS NOTICE TO YOUR POLICY:

This notice is for information only and does not become a part or condition of the attached document.

Form F8277

AVISO IMPORTANTE

Para obtener informacion o para someter una queja:

Puede comunicarse con Continental Casualty Company, National Fire Insurance Company, American Casualty Company or Continental Insurance Company al 312-822-5000.

Usted puede llamar al numero de telefono gratis de Continental Casualty Company, National Fire Insurance Company, American Casualty Company or Continental Insurance Company's para informacion o para someter una queja al:

1-877-672-6115

Usted tambien puede escribir a Continental Casualty Company, National Fire Insurance Company, American Casualty Company or Continental Insurance Company:

CNA Surety 333 South Wabash Chicago, IL 60604

Puede comunicarse con el Departamento de Seguros de Texas para obtener informacion acerca de companias, coberturas, derechos o quejas al:

1-800-252-3439

Puede escribir al Departamento de Seguros de Texas:

P.O. Box 149104 Austin, TX 78714-9104 Fax: (512) 475-1771

Web: http://www.tdi.state.tx.us

E-Mail: ConsumerProtection@tdi.state.tx.us

DISPUTAS SOBRE PRIMAS O RECLAMOS:

Si tiene una disputa concerniente a su prima o a un reclamo, debe comunicarse con el Continental Casualty Company, National Fire Insurance Company, American Casualty Company or Continental Insurance Company primero. Si no se resuelve la disputa, puede entonces comunicarse con el departamento (TDI).

UNA ESTE AVISO A SU POLIZA: Este aviso es solo para proposito de informacion y no se convierte en parte o condicion del documento adjunto.

idSync

State of Texas

Claim Notice Endorsement

To be attached to and form a part of Bond No	N	A

In accordance with Section 2253.021(f) of the Texas Government Code and Section 53.202(6) of the Texas Property Code any notice of claim to the named surety under this bond(s) should be sent to:

CNA Surety 333 South Wabash Chicago, IL 60604

Telephone: (312) 822-5000



Supplier: Lone Star Paving

BID AFFIDAVIT

This form must be completed, signed, notarized and returned with Bid package

The undersigned attests that the company named below, under the provisions of Subtitle F, Title 10, Texas Government Code Chapter 2270:

- 1. Does not boycott Israel currently; and
- 2. Will not boycott Israel during the term of the contract.

Pursuant to Section 2270.001, Texas Government Code:

- "Boycott Israel" means refusing to deal with, terminating business activities with, or otherwise taking any action that is intended to penalize, inflict economic harm on, or limit commercial relations specifically with Israel, or with a person or entity doing business in Israel or in an Israeli-controlled territory, but does not include an action made for ordinary business purposes; and
- "Company" means a for-profit sole proprietorship, organization, association, corporation, partnership, joint venture, limited partnership, or any limited liability company, including a wholly owned subsidiary, majority-owned subsidiary, parent company or affiliate of those entities or business associations that exist to make a profit.

The undersigned certifies that the IFB and the Bidder's Bid have been carefully reviewed and are submitted as correct and final. Bidder further certifies and agrees to furnish any and/or all goods and/or services upon which prices are extended at the price Bid, and upon the conditions contained in the IFB.

I hereby certify that the foregoing Bid has not been prepared in collusion with any other Bidder or other person or persons engaged in the same line of business prior to the official opening of this Bid. Further, I certify that the Bidder is not now, nor has been for the past six (6) months, directly or indirectly concerned in any pool or agreement or combination, to control the price of services/commodities Bid on, or to influence any person or persons to submit a Bid or not to submit a Bid thereon."

Name of Bidder:	Lone Star Paving
Address of Bidder:	11675 Jollyville Rd, Ste 150, Austin, TX 78759
Email:	ben@lspaving.com
Telephone:	512-428-5778
Printed Name of Person Submitting Affidavit:	Ben Carroll
Signature of Person Submitting Affidavit:	Ben Carroll

Cooperative Purchasing Program

Check one of the following options below. A non-affirmative Bid will in no way have a negative impact on the County's evaluation of the Bid.

V	I will offer the quoted prices to all authorized entities during the term of the County's Contract.
	I will not offer the quoted prices to all authorized entities.

If no box is checked, the Bidder agrees to make best efforts in good faith to offer the quoted prices to all authorized entities.

BEFORE ME, the undersigned authority, a Notary Public, personally appeared **Ben Carroll**(*Name of Signer*), who after being by me duly sworn, did depose and say: "I, **Ben Carroll**, (*Name of Signer*) am a duly authorized officer of/agent for **Lone Star Paving**(*Name of Bidder*) and have been duly authorized to execute the foregoing on behalf of the said **Lone Star Paving**(*Name of Bidder*).

SUBSCRIBED AND SWORN to before me by the above-named on this the day of , 20.

Notary Public in and for

The State of Texas

The County of Travis

SIGNATURE AND NOTARY NOT REQUIRED IF COMPLETING IN BIDSYNC ELECTRONICALLY.

Supplier: Lone Star Paving

CONFLICT OF INTEREST QUESTIONNAIRE Form For vendor or other person doing business with local governmental entity CIQ This questionnaire is being filed in accordance with chapter 176 of the Local OFFICE USE ONLY Government Code by a person doing business with the governmental entity. Date Received By law this questionnaire must be filed with the records administrator of the local government not later than the 7th business day after the date the person becomes aware of facts that require the statement to be filed. See Section 176.006, Local Government Code. A person commits an offense if the person violates Section 176.006, Local Government Code. An offense under this section is a Class C misdemeanor. Name of person doing business with local governmental entity. **Lone Star Paving** 2 Check this box if you are filing an update to a previously filed questionnaire. **✓** (The law requires that you file an updated completed questionnaire with the appropriate filing authority not later than September 1 of the year for which an activity described in Section 176.006(a), Local Government Code, is pending and not later than the 7th business day after the date the originally filed questionnaire becomes incomplete or inaccurate.) 3 Describe each affiliation or business relationship with an employee or contractor of the local governmental entity who makes recommendations to a local government officer of the local governmental entity with respect to expenditure of money. None 4 Describe each affiliation or business relationship with a person who is a local government officer and who appoints or employs a local government officer of the local governmental entity that is the subject of this questionnaire. None

CONFLICT OF INTEREST QUESTIONNAIRE

For vendor or other person doing business with local governmental entity

Form CIQ Page 2

<u> </u>		<u> </u>
5	Name of local government officer with whom filer has affiliation or be (Complete this section only if the answer to A, B, or C is	-
	(Complete this section only if the answer to A, B, or C is	5 123.)
	This section, item 5 including subparts A, B, C & D, must be completed for each	
	has affiliation or other relationship. Attach additional pages to this For	n CIQ as necessary.
	A. Is the local government officer named in this section receiving or likely to	receive taxable income from
	the filer of the questionnaire?	
	☐ Yes ☐ No	
	B. Is the filer of the questionnaire receiving or likely to receive taxable incom	
	the local government officer named in this section AND the taxable inc	come is not from the local
	governmental entity?	
	☐ Yes ☐ No	
	C. Is the filer of this questionnaire affiliated with a corporation or other bus	<u> </u>
	government officer serves as an officer or director, or holds an owners	nip of 10 percent or more?
	☐ Yes ☐ No	
	D. Describe each affiliation or business relationsh	ip.
	None	
	6. Describe any other affiliation or business relationship that might ca None	use conflict of interest:
7	None	
	Ben Carroll	7/17/18
	Signature of person doing business with the governmental entity	Date
	Signature not required if completing in BIDSYNC elec	ctronically.

Supplier: Lone Star Paving

Bidder References

List the last (3) companies or governmental agencies, where the same or similar goods and/or services as contained in this IFB package, were recently provided by Bidder.

|--|

Client Name: Location:

DNT Construction Pflugerville

Contact Name: Title:

Jason Gray Vice President

Phone: E-mail

512-350-3438 jgray@dntconstruction.com

Contract Date To: Contract Date From: Contract Value: \$

1/1/18 12/31/18 \$6,000,000

Scope of Work:

Asphalt paving supplier and subcontractor

Reference 2

Client Name: Location:

Travis County Travis County

Contact Name: Title:

John Pena Purchasing

Phone: E-mail

512-854-9765 john.pena@traviscountytx.gov

Contract Date To: Contract Date From: Contract Value: \$

7/1/18 8/31/16 \$1,000,000

Scope of Work:

2018 FY Mill and Overlay

Reference 3

Client Name: Location:

Roy Jorgenson Williamson County Toll Roads

Contact Name: Title:

Craig Duncan Regional Manager

Phone: E-mail

281-445-7888 craig.duncan@royjorgenson.com

Contract Date To: Contract Date From: Contract Value: \$

1/1/18 12/31/18 \$2,500,000

Scope of Work:

Mill and Asphalt Overlay

APAC Texas Inc./Wheeler

Bid Contact David reese

david.reese@apac.com Ph 512-633-5680 Address 1 Chisholm Trail Round Rock, TX 76513

Bid Bond



(Status: Authorized on Jul 13, 2018)

Item #	Line Item	Notes	Unit Price	Qty/Uni	t	Attch.	Docs	
1806 -23501- 01	Total Bid Price	Supplier Product Code:	First Offer - \$2,812,308.28	1 / each	\$2,812,308.28	Υ	Υ	
1806-23501-02	Please Attach All Documents To This Line	Supplier Product Code:	First Offer -	1 / each		Υ	Υ	
				9	Supplier Total \$2.	2.812.308.28		

Bid Bond from Surety2000

Oldcastle Materials Texas, Inc.

Surety Surety2000
Bid Bond Number STX18919591

Bond Type 0001

Bond Form Bid Bond in accordance with Contract Specifications

 Bid Date
 7/17/2018

 Bid ID
 1806-235

 Security Percent
 5%

Job Description Bid #1806-235 - Repairing, Milling & Overlay - Ronald Reagan Blvd from SH 195 to IH 35

Agency ID A03016375

Name MARSH USA, INC.(Salt Lake City, UT)

Address 15 WEST SOUTH TEMPLE, SALT LAKE CITY, Utah 84101, United States

Phone 801-533-3624

Contact Name Tina Davis

Bond Status

Execution Date 7/12/2018 6:38:30 PM

Executed By Tina Davis

15 W. South Temple, Ste. 700, Salt Lake City, Utah 84047, United States

801-533-3624

Contractor ID

Name Oldcastle Materials Texas, Inc.

Contractor Tax ID 58-1401466 Assigned Contractor ID 4384152288

Address 420 Decker Drive, Ste. 200, Irving, Texas 75062, United States

Phone 409-866-1444

Name Williamson County

Address 901 South Austin Ave, Georgetown, Texas 78626, United States

Surety ID SD11001848

Name Liberty Mutual Insurance Company

NAIC Number 23043

State of Incorporation Massachusetts

Contact

Address 175 Berkeley Street, Boston, Massachusetts 02117, United States

Phone

Terror Rider http://legacy.surety2000.com/Riders/SD11001848-LibertyMutual.pdf

APAC Texas Inc./Wheeler

Item: Total Bid Price

Attachments

BID FORM-002.pdf

BID FORM RONALD REAGAN BLVD- from SH 195 to IH 35 (Phase 1) Williamson County

	Williamson County						
PHASE	ITEM	NO	DESCRIPTION	UNITS	QTY	Unit Price	Total Price
PHASE 1	160	6003	FURNISHING AND PLACING TOPSOIL (4")	SY	26,607.00	\$1.84	\$48,956.88
PHASE 1	164	6033	DRILL SEEDING (PERM) (RURAL) (SANDY)	SY	26,607.00	\$0.15	\$3,991.05
PHASE 1	166	6001	FERTILIZER	AC	6.00	\$255.00	\$1,530.00
PHASE 1	168	6001	VEGETATIVE WATERING	MG	1,254.00	\$50.00	\$62,700.00
PHASE 1	316	6175	AGGR (TY-B GR-4 SAC-B)	CY	640.00	\$85.00	\$54,400.00
PHASE 1	316	6466	AS PH (CHFRS-2P OR CRS-2P)	GAL	25,726.00	\$3.75	\$96,472.50
PHASE 1	341	6008	D - GR HMA TY - B PG64 - 22	TON	2,017.00	\$93.00	\$187,581.00
PHASE 1	341	6043	D - GR HMA TY - D PG70 - 22	TON	8,086.00	\$98.00	\$792,428.00
PHASE 1	341	6062	D-GR HMA TY-D PG64-22(LEVEL-UP)	TON	1,009.00	\$105.00	\$105,945.00
PHASE 1	354	6021	PLANE AS PH CONC PAV (0" TO 2")	SY	13,001.00	\$4.00	\$52,004.00
PHASE 1	354	6082	PLANE AS PH CONC PAV (10")	SY	3,668.00	\$8.94	\$32,791.92
PHASE 1	500	6001	MOBILIZATION	LS	1.00	\$60,000.00	\$60,000.00
PHASE 1	502	6001	BARRICADES, SIGNS AND TRAFFIC HANDLING	MO	1.50	\$15,000.00	\$22,500.00
PHASE 1	662	6109	WK ZN PAV MRK SHT TERM (TAB) TY W	EA	75.00	\$1.20	\$90.00
PHASE 1	662	6111	WK ZN PAV MRK SHT TERM (TAB) TY Y - 2	EA	1,505.00	\$1.20	\$1,806.00
PHASE 1	666	6035	REFL PAV M RK TY I (W) 8" (SLD) (090MIL)	LF	746.00	\$0.60	\$447.60
PHASE 1	666	6047	REFL PAV MRK TY I (W) 24" (SLD) (090M IL)	LF	35.00	\$12.50	\$437.50
PHASE 1	666	6053	REFL PAV M RK TY I (W) (ARROW) (090M IL)	EA	2.00	\$255.00	\$510.00
PHASE 1	666	6077	REFL PAV M RK TY I (W) (WORD) (090MIL)	EA	2.00	\$260.00	\$520.00
PHASE 1	666	6146	REFL PAV M RK TY I (Y) 24" (SLD) (090M IL)	LF	0.00	\$0.00	\$0.00
PHASE 1	666	6167	REFL PAV M RK TY II (W) 4" (BRK)	LF	0.00	\$0.00	\$0.00
PHASE 1	666	6170	REFL PAV M RK TY II (W) 4" (SLD)	LF	29,860.00	\$0.12	\$3,583.20
PHASE 1	666	6178	REFL PAV M RK TY II (W) 8" (SLD)	LF	746.00	\$0.33	\$246.18
PHASE 1	666	6182	REFL PAV M RK TY II (W) 24" (S LD)	LF	35.00	\$3.35	\$117.25
PHASE1	666	6184	REFL PAV M RK TY II (W) (ARROW)	EA	2.00	\$85.00	\$170.00
PHASE1	666	6192	REFL PAV M RK TY II (W) (WORD)	EA	2.00	\$95.00	\$190.00
PHASE 1	666	6207	REFL PAV M RK TY II (Y) 4" (SLD)	LF	30,090.00	\$0.12	\$3,610.80
PHASE 1	666	6214	REFL PAV M RK TY II (Y) 24" (SLD)	LF	0.00	\$0.00	\$0.00
PHASE1	666		RE PM W / RET REQ TY I (W) 4" (BRK) (090M IL)	LF	0.00	\$0.00	\$0.00
PHASE1	666	6302	RE PM W / RET REQ TY I (W) 4" (SLD) (090M IL)	LF	29,860.00	\$0.26	\$7,763.60
PHASE1	666	6314	RE PM W / RET REQ TY I (Y) 4" (SLD) (090M IL)	LF	30,090.00	\$0.26	\$7,823.40
PHASE 1	672	6007	REFL PAV MRKR TY I-C	EA	38.00	\$5.85	\$222.30
PHASE1	672	6009	RE FL PAV MRKR TY II-A-A	EA	376.00	\$4.00	\$1,504.00
					TOTA	AL.	\$1,550,342.18

BID FORM RONALD REAGAN BLVD- from SH 195 to IH 35 (Phase 2) Williamson County

Williamson County							
PHASE	ITEM	NO	DESCRIPTION	UNITS	QTY	Unit Price	Total Price
PHASE 2	160	6003	FURNIS NING AND PLACING TOPSOIL (4")	SY	26,134.00	\$1.18	\$30,838.12
PHASE 2	164	6033	DRILL SEEDING (PERM) (RURAL) (SANDY)	SY	26,134.00	\$0.15	\$3,920.10
PHASE 2	166	6001	FERTILIZER	AC	6.00	\$255.00	\$1,530.00
PHASE 2	168	6001	VE GETATIVE WATERING	MG	1,232.00	\$50.00	\$61,600.00
PHASE 2	316	6175	AGGR (TY-B GR-4 SAC-B)	CY	724.00	\$85.00	\$61,540.00
PHASE 2	316	6466	AS PH (CHFRS-2P OR CRS-2P)	GAL	29,114.00	\$3.75	\$109,177.50
PHASE 2	341	6008	D-GR HMA TY-BPG64-22	TON	0.00	\$0.00	\$0.00
PHASE 2	341	6043	D - GR HMA TY - D PG70 - 22	TON	9,150.00	\$93.00	\$850,950.00
PHASE 2	341	6062	D-GR HMA TY-D PG64-22(LEVEL-UP)	TON	0.00	\$0.00	\$0.00
PHASE 2	354	6021	PLANE AS PH CONC PAV (0" TO 2")	SY	4,100.00	\$5.50	\$22,550.00
PHASE 2	354	6082	PLANE AS PH CONC PAV (10")	SY	0.00	\$0.00	\$0.00
PHASE 2	500	6001	MOBILIZATION	LS	1.00	\$60,000.00	\$60,000.00
PHASE 2	502	6001	BARRICADES, SIGNS AND TRAFFIC HANDLING	MO	1.50	\$15,000.00	\$22,500.00
PHASE 2	662	6109	WK Z IPAV MRK SHT TERM (TAB) TY W	EA	144.00	\$1.11	\$159.84
PHASE 2	662	6111	WK ZN PAV MRK SHT TERM (TAB) TY Y - 2	EA	1,609.00	\$1.11	\$1,785.99
PHASE 2	666	6035	REFL PAV M RK TY I(W) 8" (SLD) (OSOMIL)	LF	1,440.00	\$0.60	\$864.00
PHASE 2	666	6047	REFL PAV M RK TY I (W) 24" (SLD) (090M IL)	LF	56.00	\$12.50	\$700.00
PHASE 2	666	60M	REFL PAV M RK TY I (W) (ARROW) (090M IL)	EA	4.00	\$255.00	\$1,020.00
PHASE 2	666	6077	REFL PAV M RK TY I (W) (WORD) (090MIL)	EA	4.00	\$260.00	\$1,040.00
PHASE 2	666	6146	REFL PAV M RK TY I (Y) 24" (SLD) (090M IL)	LF	1,015.00	\$3.00	\$3,045.00
PHASE 2	666	6167	REFL PAV M RK TY II (W) 4" (BRK)	LF	1,110.00	\$0.10	\$111.00
PHASE 2	666	6170	REFL PAV M RK TY II (W) 4" (SLO)	LF	29,150.00	\$0.12	\$3,498.00
PHASE 2	666	6178	REFL PAV M RK TY II (W) 8" (SLD)	LF	1,440.00	\$0.33	\$475.20
PHASE 2	666	6182	REFL PAV M RK TY II (W) 24" (SLD)	LF	56.00	\$3.35	\$187.60
PHASE 2	666	6184	REFL PAV M RK TY II (W) (ARROW)	EA	4.00	\$85.00	\$340.00
PHASE 2	666	6192	REFL PAV M RK TY II (W) (WORD)	EA	4.00	\$95.00	\$380.00
PHASE 2	666	6207	REFL PAV M RK TY II (Y) 4" (SLD)	LF	32,180.00	\$0.12	\$3,861.60
PHASE 2	666	6214	REFL PAV M RK TY II (Y) 24" (SLD)	LF	1,015.00	\$0.75	\$761.25
PHASE 2	666	6299	RE PM W / RET REQ TY I (W) 4" (BRK) (090M IL)	LF	1,110.00	\$0.20	\$222.00
PHASE 2	666	6302	RE PM W / RET REQ TY I (W) 4" (SLD) (090M IL)	LF	29,150.00	\$0.26	\$7,579.00
PHASE 2	666	6314	RE PM W / RET REQ TY I (Y) 4" (SLD) (090M IL)	LF	32,180.00	\$0.26	\$8,366.80
PHASE 2	672	6007	REFL PAV M RKR TY kC	EA	86.00	\$5.85	\$503.10
PHASE 2	672	6009	REFL PAV M RKR TY II-A-A	EA	615.00	\$4.00	\$2,460.00
					TOTA	AL.	\$1,261,966.10

APAC Texas Inc./Wheeler

Item: Please Attach All Documents To This Line

Attachments

BID FORM-002.pdf

BID FORM RONALD REAGAN BLVD- from SH 195 to IH 35 (Phase 1) Williamson County

PHASE	ITEM	NO	DESCRIPTION	UNITS	QTY	Unit Price	Total Price
PHASE 1	160	6003	FURNISHING AND PLACING TOPSOIL (4")	SY	26,607.00	\$1.84	\$48,956.88
PHASE 1	164	6033	DRILL SEEDING (PERM) (RURAL) (SANDY)	SY	26,607.00	\$0.15	\$3,991.05
PHASE 1	166	6001	FERTILIZER	AC	6.00	\$255.00	\$1,530.00
PHASE 1	168	6001	VEGETATIVE WATERING	MG	1,254.00	\$50.00	\$62,700.00
PHASE 1	316	6175	AGGR (TY-B GR-4 SAC-B)	CY	640.00	\$85.00	\$54,400.00
PHASE 1	316	6466	AS PH (CHFRS-2P OR CRS-2P)	GAL	25,726.00	\$3.75	\$96,472.50
PHASE 1	341	6008	D - GR HMA TY - B PG64 - 22	TON	2,017.00	\$93.00	\$187,581.00
PHASE 1	341	6043	D - GR HMA TY - D PG70 - 22	TON	8,086.00	\$98.00	\$792,428.00
PHASE 1	341	6062	D-GR HMA TY-D PG64-22(LEVEL-UP)	TON	1,009.00	\$105.00	\$105,945.00
PHASE 1	354	6021	PLANE AS PH CONC PAV (0" TO 2")	SY	13,001.00	\$4.00	\$52,004.00
PHASE 1	354	6082	PLANE AS PH CONC PAV (10")	SY	3,668.00	\$8.94	\$32,791.92
PHASE 1	500	6001	MOBILIZATION	LS	1.00	\$60,000.00	\$60,000.00
PHASE 1	502	6001	BARRICADES, SIGNS AND TRAFFIC HANDLING	MO	1.50	\$15,000.00	\$22,500.00
PHASE 1	662	6109	WK ZN PAV MRK SHT TERM (TAB) TY W	EA	75.00	\$1.20	\$90.00
PHASE 1	662	6111	WK ZN PAV MRK SHT TERM (TAB) TY Y - 2	EA	1,505.00	\$1.20	\$1,806.00
PHASE 1	666	6035	REFL PAV M RK TY I (W) 8" (SLD) (090MIL)	LF	746.00	\$0.60	\$447.60
PHASE 1	666	6047	REFL PAV MRK TY I (W) 24" (SLD) (090M IL)	LF	35.00	\$12.50	\$437.50
PHASE 1	666	6053	REFL PAV M RK TY I (W) (ARROW) (090M IL)	EA	2.00	\$255.00	\$510.00
PHASE 1	666	6077	REFL PAV M RK TY I (W) (WORD) (090MIL)	EA	2.00	\$260.00	\$520.00
PHASE 1	666	6146	REFL PAV M RK TY I (Y) 24" (SLD) (090M IL)	LF	0.00	\$0.00	\$0.00
PHASE 1	666	6167	REFL PAV M RK TY II (W) 4" (BRK)	LF	0.00	\$0.00	\$0.00
PHASE 1	666	6170	REFL PAV M RK TY II (W) 4" (SLD)	LF	29,860.00	\$0.12	\$3,583.20
PHASE 1	666	6178	REFL PAV M RK TY II (W) 8" (SLD)	LF	746.00	\$0.33	\$246.18
PHASE 1	666	6182	REFL PAV M RK TY II (W) 24" (S LD)	LF	35.00	\$3.35	\$117.25
PHASE1	666	6184	REFL PAV M RK TY II (W) (ARROW)	EA	2.00	\$85.00	\$170.00
PHASE1	666	6192	REFL PAV M RK TY II (W) (WORD)	EA	2.00	\$95.00	\$190.00
PHASE 1	666		REFL PAV M RK TY II (Y) 4" (SLD)	LF	30,090.00	\$0.12	\$3,610.80
PHASE 1	666		REFL PAV M RK TY II (Y) 24" (SLD)	LF	0.00	\$0.00	\$0.00
PHASE1	666		RE PM W / RET REQ TY I (W) 4" (BRK) (090M IL)	LF	0.00	\$0.00	\$0.00
PHASE1	666		RE PM W / RET REQ TY I (W) 4" (SLD) (090M IL)	LF	29,860.00	\$0.26	\$7,763.60
PHASE1	666		RE PM W / RET REQ TY I (Y) 4" (SLD) (090M IL)	LF	30,090.00	\$0.26	\$7,823.40
PHASE 1	672		REFL PAV MRKR TY I-C	EA	38.00	\$5.85	\$222.30
PHASE1	672	6009	RE FL PAV MRKR TY II-A-A	EA	376.00	\$4.00	\$1,504.00
TOTAL						\$1,550,342.18	

BID FORM RONALD REAGAN BLVD- from SH 195 to IH 35 (Phase 2) Williamson County

Williamson County							
PHASE	ITEM	NO	DESCRIPTION	UNITS	QTY	Unit Price	Total Price
PHASE 2	160	6003	FURNIS NING AND PLACING TOPSOIL (4")	SY	26,134.00	\$1.18	\$30,838.12
PHASE 2	164	6033	DRILL SEEDING (PERM) (RURAL) (SANDY)	SY	26,134.00	\$0.15	\$3,920.10
PHASE 2	166	6001	FERTILIZER	AC	6.00	\$255.00	\$1,530.00
PHASE 2	168	6001	VE GETATIVE WATERING	MG	1,232.00	\$50.00	\$61,600.00
PHASE 2	316	6175	AGGR (TY-B GR-4 SAC-B)	CY	724.00	\$85.00	\$61,540.00
PHASE 2	316	6466	AS PH (CHFRS-2P OR CRS-2P)	GAL	29,114.00	\$3.75	\$109,177.50
PHASE 2	341	6008	D-GR HMA TY-BPG64-22	TON	0.00	\$0.00	\$0.00
PHASE 2	341	6043	D - GR HMA TY - D PG70 - 22	TON	9,150.00	\$93.00	\$850,950.00
PHASE 2	341	6062	D-GR HMA TY-D PG64-22(LEVEL-UP)	TON	0.00	\$0.00	\$0.00
PHASE 2	354	6021	PLANE AS PH CONC PAV (0" TO 2")	SY	4,100.00	\$5.50	\$22,550.00
PHASE 2	354	6082	PLANE AS PH CONC PAV (10")	SY	0.00	\$0.00	\$0.00
PHASE 2	500	6001	MOBILIZATION	LS	1.00	\$60,000.00	\$60,000.00
PHASE 2	502	6001	BARRICADES, SIGNS AND TRAFFIC HANDLING	MO	1.50	\$15,000.00	\$22,500.00
PHASE 2	662	6109	WK Z IPAV MRK SHT TERM (TAB) TY W	EA	144.00	\$1.11	\$159.84
PHASE 2	662	6111	WK ZN PAV MRK SHT TERM (TAB) TY Y - 2	EA	1,609.00	\$1.11	\$1,785.99
PHASE 2	666	6035	REFL PAV M RK TY I(W) 8" (SLD) (OSOMIL)	LF	1,440.00	\$0.60	\$864.00
PHASE 2	666	6047	REFL PAV M RK TY I (W) 24" (SLD) (090M IL)	LF	56.00	\$12.50	\$700.00
PHASE 2	666	60M	REFL PAV M RK TY I (W) (ARROW) (090M IL)	EA	4.00	\$255.00	\$1,020.00
PHASE 2	666	6077	REFL PAV M RK TY I (W) (WORD) (090MIL)	EA	4.00	\$260.00	\$1,040.00
PHASE 2	666	6146	REFL PAV M RK TY I (Y) 24" (SLD) (090M IL)	LF	1,015.00	\$3.00	\$3,045.00
PHASE 2	666	6167	REFL PAV M RK TY II (W) 4" (BRK)	LF	1,110.00	\$0.10	\$111.00
PHASE 2	666	6170	REFL PAV M RK TY II (W) 4" (SLO)	LF	29,150.00	\$0.12	\$3,498.00
PHASE 2	666	6178	REFL PAV M RK TY II (W) 8" (SLD)	LF	1,440.00	\$0.33	\$475.20
PHASE 2	666	6182	REFL PAV M RK TY II (W) 24" (SLD)	LF	56.00	\$3.35	\$187.60
PHASE 2	666	6184	REFL PAV M RK TY II (W) (ARROW)	EA	4.00	\$85.00	\$340.00
PHASE 2	666	6192	REFL PAV M RK TY II (W) (WORD)	EA	4.00	\$95.00	\$380.00
PHASE 2	666	6207	REFL PAV M RK TY II (Y) 4" (SLD)	LF	32,180.00	\$0.12	\$3,861.60
PHASE 2	666	6214	REFL PAV M RK TY II (Y) 24" (SLD)	LF	1,015.00	\$0.75	\$761.25
PHASE 2	666	6299	RE PM W / RET REQ TY I (W) 4" (BRK) (090M IL)	LF	1,110.00	\$0.20	\$222.00
PHASE 2	666	6302	RE PM W / RET REQ TY I (W) 4" (SLD) (090M IL)	LF	29,150.00	\$0.26	\$7,579.00
PHASE 2	666	6314	RE PM W / RET REQ TY I (Y) 4" (SLD) (090M IL)	LF	32,180.00	\$0.26	\$8,366.80
PHASE 2	672	6007	REFL PAV M RKR TY kC	EA	86.00	\$5.85	\$503.10
PHASE 2	672	6009	REFL PAV M RKR TY II-A-A	EA	615.00	\$4.00	\$2,460.00
TOTAL \$							\$1,261,966.10

Supplier: APAC Texas Inc./Wheeler

BID AFFIDAVIT

This form must be completed, signed, notarized and returned with Bid package

The undersigned attests that the company named below, under the provisions of Subtitle F, Title 10, Texas Government Code Chapter 2270:

- 1. Does not boycott Israel currently; and
- 2. Will not boycott Israel during the term of the contract.

Pursuant to Section 2270.001, Texas Government Code:

- "Boycott Israel" means refusing to deal with, terminating business activities with, or otherwise taking any action that is intended to penalize, inflict economic harm on, or limit commercial relations specifically with Israel, or with a person or entity doing business in Israel or in an Israeli-controlled territory, but does not include an action made for ordinary business purposes; and
- "Company" means a for-profit sole proprietorship, organization, association, corporation, partnership, joint venture, limited partnership, or any limited liability company, including a wholly owned subsidiary, majority-owned subsidiary, parent company or affiliate of those entities or business associations that exist to make a profit.

The undersigned certifies that the IFB and the Bidder's Bid have been carefully reviewed and are submitted as correct and final. Bidder further certifies and agrees to furnish any and/or all goods and/or services upon which prices are extended at the price Bid, and upon the conditions contained in the IFB.

I hereby certify that the foregoing Bid has not been prepared in collusion with any other Bidder or other person or persons engaged in the same line of business prior to the official opening of this Bid. Further, I certify that the Bidder is not now, nor has been for the past six (6) months, directly or indirectly concerned in any pool or agreement or combination, to control the price of services/commodities Bid on, or to influence any person or persons to submit a Bid or not to submit a Bid thereon."

Oldcastle Materials Texas, Inc.
1320 Arrow Point Dr., Ste 600, Cedar Park, TX
David.Reese@apac.com
512-861-7100/512-633-5680
David Reese

Cooperative Purchasing Program

Check one of the following options below. A non-affirmative Bid will in no way have a negative impact on the County's evaluation of the Bid.

V	I will offer the quoted prices to all authorized entities during the term of the County's Contract.
	I will not offer the quoted prices to all authorized entities.

If no box is checked, the Bidder agrees to make best efforts in good faith to offer the quoted prices to all authorized entities.

BEFORE ME, the undersigned authority, a Notary Public, personally appeared (*Name of Signer*), who after being by me duly sworn, did depose and say: "I, , (*Name of Signer*) am a duly authorized officer of/agent for (*Name of Bidder*) and have been duly authorized to execute the foregoing on behalf of the said (*Name of Bidder*).

SUBSCRIBED AND SWORN to before me by the above-named on this the day of , 20.

Notary Public in and for

The State of

The County of

SIGNATURE AND NOTARY NOT REQUIRED IF COMPLETING IN BIDSYNC ELECTRONICALLY.

Supplier: APAC Texas Inc./Wheeler

CONFLICT OF INTEREST QUESTIONNAIRE Form For vendor or other person doing business with local governmental entity CIQ This questionnaire is being filed in accordance with chapter 176 of the Local OFFICE USE ONLY Government Code by a person doing business with the governmental entity. Date Received By law this questionnaire must be filed with the records administrator of the local government not later than the 7th business day after the date the person becomes aware of facts that require the statement to be filed. See Section 176.006, Local Government Code. A person commits an offense if the person violates Section 176.006, Local Government Code. An offense under this section is a Class C misdemeanor. Name of person doing business with local governmental entity. 2 Check this box if you are filing an update to a previously filed questionnaire. (The law requires that you file an updated completed questionnaire with the appropriate filing authority not later than September 1 of the year for which an activity described in Section 176.006(a), Local Government Code, is pending and not later than the 7th business day after the date the originally filed questionnaire becomes incomplete or inaccurate.) 3 Describe each affiliation or business relationship with an employee or contractor of the local governmental entity who makes recommendations to a local government officer of the local governmental entity with respect to expenditure of money. N/A 4 Describe each affiliation or business relationship with a person who is a local government officer and who appoints or employs a local government officer of the local governmental entity that is the subject of this questionnaire. N/A

CONFLICT OF INTEREST QUESTIONNAIRE

For vendor or other person doing business with local governmental entity

Form CIQ Page 2

5	Name of local government officer with whom filer has affiliation or business relationship. (Complete this section only if the answer to A, B, or C is YES.)						
	This section, item 5 including subparts A, B, C & D, must be completed for each officer with whom the filer has affiliation or other relationship. Attach additional pages to this Form CIQ as necessary.						
	A. Is the local government officer named in this section receiving or likely to receive taxable income from the filer of the questionnaire?						
	☐ Yes ☑ No						
	B. Is the filer of the questionnaire receiving or likely to receive taxable incom the local government officer named in this section AND the taxable incom governmental entity?						
	☐ Yes ☑ No						
		siness entity that the local					
	C. Is the filer of this questionnaire affiliated with a corporation or other business entity that the local government officer serves as an officer or director, or holds an ownership of 10 percent or more? ☐ Yes ☑ No D. Describe each affiliation or business relationship. N/A						
	6. Describe any other affiliation or business relationship that might cause conflict of interest:						
	N/A	I					
7							
		7/31/2017					
	Signature of person doing business with the governmental entity Date						
	j jane sa gasa sa gasa manung						
	Signature not required if completing in BIDSYNC electronically.						

Supplier: APAC Texas Inc./Wheeler

Bidder References

List the last (3) companies or governmental agencies, where the same or similar goods and/or services as contained in this IFB package, were recently provided by Bidder.

Reference 1

Client Name: Location:

Travis County Howard Lane PH-2 Pflugerville, TX

Contact Name: Title:

Chiddi N'Jie Engineer

Phone: E-mail

512-845-7585 Chiddi.N'jie@traviscountytx.gov

Contract Date To: Contract Date From: Contract Value: \$

01/2014 02/2016 \$2,500,000

Scope of Work:

HMAC Paving and Chipseal including final riding surface placement

Reference 2

Client Name: Location:

TxDOT US290 Travis County, Austin

Contact Name: Title:

Victor Vargas Area Engineer

Phone: E-mail

512-282-2113

Contract Date To: Contract Date From: Contract Value: \$

07/2105 01/2016 \$2,519,000

Scope of Work:

Milling, overlay, seal layer and pavement repairs on US290 frontage Roads 22,000 tons

Reference 3

Client Name: Location:

City of Round Rock Round Rock city streets

Contact Name: Title:

Todd Keltgen Operations Manager

Phone: E-mail

512-218--6603 toddk@roundrocktexas.gov

Contract Date To: Contract Date From: Contract Value: \$

02/2015 01/2016 \$4,252,957

Scope of Work:

Milling, Overlay, Pavement Repairs and Concrete Driveways, curb, sidewalk